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HARSEE | 28 e
(16 #Efir)
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(CH-1) @& PV BURME SdRE
0002 . e o —
(CH-2) iEiE PV #UE 5 HDRE
0003 w e
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0004 . S o -
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0005 . .
(CH-5) #¥3E PV ER{E FHARE
HHES 031 EAMmS 4
ARSI E | 28 it A
(16 #Ef7)
0006 - o e T
1PVOF ZE—4H & wiE #iE :-1000~1000
0007 S —a AY %3 S [ LS = .
2PVOF 25 —4H S i #i[& :-1000~1000
0008 S — > X3 S I S E=] .
3PVOF %5 = 4 1 8 w1 #i[& :-1000~1000
0009

APVOF B TU4H R & e

#a[& :-1000~1000
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5PVOF 25 1 4H 2 fH(E

#ufE :-1000~1000

0008 1ALSP 55— 41EEE 55 %% : -1000~1000
0010 e e o B e L e PN
1A2SP 55 " 4H R (EEE #3[& :-1000~1000
0015 o S . L .
ALFU 55 —4H 2R 0: A&EE 1:Hi Lo
0017 Y v V8 —P e S E= .
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0018 P _ N _
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CHNO A4l B Eifinf (B 1~5 4B FEZNME
001D SCAT s (B 0~10%)
001E ID ik #1255 &
001F N \
BAUD 7H45 i 00 (16 #E{ir)= 9600
01 (16 #Efir)= 19200
02 (16 #Efir) = 38400
03 (16 #Efir)= 57600
04 (16 #£fir)= 115200
0020 \ . NN
RTU 4R FE = 00 (16 #:fir)=N81

01 (16 #E{i7)= N8 2
02(16 #fir) =081

03 (16 #Ef7)=E81




0022

(CH-1) TYPE f AGRSTEAH

00 (16 #Efir)=J

01 (16 #Efir)= K

02 (16 xfir)=T

03 (16 #Efir) =R

04 (16 #Efir)= DPT
05 (16 3Efir)= LINE

06 (16 ¥ ({ir)= RSP

0023

(CH-2) TYPE i AsfsiEiH

00 (16 #Efr)=J

01 (16 7#(ir)= K

02 (16 #Efr)=T

03 (16 #Efir) =R

04 (16 #Efir)= D-PT
05 (16 #£fir)= LINE

06 (16 #Efir)= RSP

0024

(CH-3) TYPE i AGH5EAH

00 (16 #Efir)=J

01 (16 #fir)= K
02 (16 #fr)=T
03 (16 #(ir) = R

04 (16 #£fr)= D-PT




05 (16 #Efir)= LINE

06 (16 #Efir)= RSP

0025

(CH-4) TYPE i AGR5TEAH

00 (16 #Efr)=1J

01 (16 #Efir)= K

02 (16 #Efr)=T

03 (16 #£fir) =R

04 (16 #Efir)= D-PT
05.(16 #fir)= LINE

06 (16 #:{ir)= RSP

0026

(CH-5) TYPE i AGHaiEsH

00 (16 #Efir)=J

01 (16 #&fr)=K

02 (16 #Air)=T

03 (16 #fir) =R

04 (16 #Efir)= D-PT
05 (16 £fir)= LINE

06 (16 iEfir)= RSP

0027

(CH-1) BB B EIE

1.TC - D-PT A[#E4EC - °F

00 (16 #Efir)= No_disp

01 (16 #fir)= C




2.LINE ~ RSP T 3241

0.No_disp~1C ~2. F~3.%-

4.RH ~5.%RH ~ 6.PPM ~ 7.blank

02 (16 #fir)= F
03 (16 #Efir) = %

04 (16 #fir)=RH
05 (16 #Efir)= % RH
06 (16 #E{ir)=PPM

07 (16 #Efir)= blank 1

0028 (CH-2) it B L T 00 (16 * ir)= No_ disp
1.TC - D-PT H[#82°C . F 01 (16#{ir)= "C
2.LINE - RSP a] #8841 02 (16 #fr)= F
0.No_disp >~ 1.C ~2. F~3.% - 03 (16 #fir) = %
4.RH -~ 5.%RH - 6.,PPM - 7.blank 04 (16 #fr)= RH
05 (16 #fir)= % RH
06 (16 #Efir)= PPM
07 (16 #£fir)=blank 1
0029

(CH-3) iiEry B B~ iH
1.TC > D-PT 0J#E#E°C ~ F
2.LINE ~ RSP 072524 [

0.No disp~1°C ~2. F~3. %~

4.RH ~5.%RH ~ 6.PPM ~ 7.blank

00 (16 #£{i7)= No_disp
01 (16 #Efir)= "C
02 (16 #Efir)= °F
03 (16 #Efir) = %
04 (16 #fr)= RH

05 (16 #Efr)=% RH




06 (16 #Efir)= PPM

07 (16 #Efir)=blank 1

O0eA (CH-4) it B BT 00 (16 3fir)=No_disp
1.TC - D-PT H[#8Z°C - °F 01 (16 #Efir)= °C
2.LINE - RSP A 31241 02 (16 #{ir)= 'F
0.No_disp ~ 1.°C ~2. F~3.% - 03 (16 #fir) = %
4.RH -~ 5.%RH - 6.PPM - 7.blank 04 (16 £ fr)= RH
05 (16'#(ir)="% RH
06 (16 i#fir)= PPM
07 (16 #Efir)=blank 1
0028 (CH-5) iy ¥ ALl 00 (16 3(ir)= No_disp
1.TC ~ D-PT T #EZC - °F 01 (16 #fir)= °C
2.LINE - RSP T] 58841 02 (16 #fir)= °F
0.No_disp ~ 1..C ~2. F~3.% - 03 (16 #fir) = %
4.RH~5.%RH - 6.PPM - 7.blank 04 (16 #fir)= RH
05 (16 #Efir)= % RH
06 (16 #Efir)= PPM
07 (16 #£fi7)=blank 1
002C

(CH-1) #EiEH)/NEGR L E

00 (16 i&fir)= 0000

01 (16 #&{ir)= 000.0




02 (16 #Efir) = 00.00

03 (16 #E{ir)= 0.000

002D

(CH-2) imiEH)/NER L B

00 (16 #&(ir)=0000
01 (16 i#Efir)= 000.0
02 (16 i£(ir) = 00.00

03 (16 3£fir)= 0.000

002E

(CH-3) iHiEH/NERL L E

00 (16 #Efir)= 0000
01 (16/37)=1000.0
02 (16 #fir) = 00.00

03 (16 #Efir)= 0.000

002F

(CH-4) miEHY/ NERE L &

00 (16 #Efir)= 0000
01 (16 iEfir)= 000.0
02 (16 3Efir) = 00.00

03 (16 3Efir)= 0.000

0030

(CH-5) #mzEHT/ N &

00 (16 #Efir)= 0000
01 (16 #Efir)= 000.0
02 (16 #Efir) = 00.00

03 (16 #Efir)= 0.000

0031

(CH-1) B LR M A (RRAE(E

#a[E :-1999~9999

0032
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(CH-2) s e M A (RRAE(E

#afE :-1999~9999
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oS5 (CH-3) mitidethhi A (ERESHER | 8 : -1999-9999
0036 G A EEE | Gl -1999~9999
o0 (CH-4) 4o A EEEEIEG | 38 : -1999~9999
0038 G A e ||l -1999-9999
0039 (CH-5) it ihbh A (EREEEE | 6 - -1999-9999
s e | 4199949999

0038 (CH-1) ERGPMAIRGISTER | 00 WBfr)= N

01 (16 3fir)= (SRR

02 (16 ()= BRI

03 (16 HEfir)= E5{HEI

003C (CH-2) ESRIMAIRGISTER | 00 (16 #fir)= AR

01 (16 Efir)= BRI

02 (16 ()= BRI

03 (16 HEfir)= 5]

Ro° (CH-3) i A JRGISTER | 00 (16 #efir)= 7 AIFE

01 (16 #Efir)= {EBELPRH
02 (16 #Efr)= = BEFRH]

03 (16 #:fir)= =R




003E

(CH-4) BRI AR GIAEE

00 (16 #E=fir)= A HIPREH]
01 (16 #Efir)= EKBELFRH]
02 (16 #EM7)= T BERH

03 (16 #Efir)= =R

003F (CH-5) i i ATRmIE [ | 00.(16 HEftr)= A HREHI
01 (16 #Efir)= {ERREPR
02 (16 7#£(i7)= TEsRaPR
03 (16 (i)=& {EPRH]
0040

FRI A N T Bet% ([ LED e

00 (16 “fir)= OF

01 (16 #fir)=ON




